TNPSC GROUP I MAIN - 2021
TEST FOR THE MONTH OF OCTOBER 2021
PAPER |, II, IIl - CURRENT AFFAIRS
PAPER 1 - UNIT Il APTITUDE AND MENTAL ABILITY

Time: 3 hours Total marks: 250

SECTION A
10 x 10 =100
Answer all the questions. Answer not exceeding 150 words each

1.  Highlight the significance of Kigali amendment.
Hamel FULSHHSHBHSHN (PSIWSHBIaHms GSEULIGS

2. What is meant by Net Zero emission? Explain India’s position regarding the same.
Bay umw o 10be] eTepmed sleier? Sigled @bHwmaler Bleneoliums alendgs

3. Describe the salient features of Digital Communication policy- 2018.
GTEWID SHHeUL OFHTLTL Gamemens 2018@er Fmlibsmisamen aleuflds

4. Write about India’s first centralized database for unorganized workers.
SIMLILFTIT QBT 60T6NTHEHHHTR EHHUWITON6T (LPSHe0 QIHBRIBNNHS STUHEND LB 61(pSHIH

5. Explain the schemes launched by SIDBI during Covid-19
Gamall - 19 GuEBHOSTBBlECLUTS BB FposTHeossT euenTsdd aumd CHTBBIeNSS S LmiseT LB
alend@ s

6.  Describe the goals and objectives of NIPUN Bharat mission.
Byer umgsh FLSHeT Bevuds@Gsen wBpid Crrasmser UBY ellendds

7. Mention the Plastic waste Management Amendment rules, 2021
OpAY sWey Gweomemieno HHHH alFHser 2021 uBB 61(DSHIS

8. Describe the role and objectives of NALSA
Gxdw gL Gemeu SiememiGHHlet LEG wBpId Chrédsmser uBp aleuflds

PAPER I UNIT III - APTITUDE AND MENTAL ABILITY

9.  The ratio of boys and girls in a class is 5 : 3. If 16% of boys and 8% of girls failed in an examination,
then find the percentage of passed students.
Q0 GLI60 DTeTaITH6T WBHID Tewialseiar aldHd 5 : 3 @b @m CxTaled 16% DTawIOITSEHID
8% wrewielseEpd GCaTFdl  Gupelsoemsv  eafled, GCaTFd OQUBB  OTHE  Tewe,  LoTewTR&H6I6T
FHAHHMBHD HTeWIH

10.  Answer the following questions
Hetaumd allemebaendd allenl e

a. One year ago, a man was 10 times as old as his son. Now his age is equal to the square of his
son’s age. Find their present ages.
QH UBLSIHMBES (W6, ebHeufled euwgd SieuhHenLwl Hefles auwmSLIGUTeL 10 WLMmIEG. HSHBOUTGH
SIQUHEDLW UG, SN UL 6UTHBHHME &I elefled, SlaUTHEhmLW SBEUTMSW ILIMSHD
BI85

b. A verandah of width 3 m is constructed along the outside of a room of length 9 m and width 7
m. Find the area of the verandah.
9 6 menpd, 7 B SBeopd BTNl T ewmEHG OeuefiGw, 3 15 Fgmemr SiHev(LpsiTen  QH
smpeutyib (verandah) o sitengl. Smpeunyshden LFLILETe| ST6wH
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SECTION - B
UNIT- I: Geography of India with special reference to Tamil Nadu

10 x 15 =150

Answer all the questions. Answer not exceeding 250 words each

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Malnutrition free India by 2022- Discuss
20228@6T 26 | FF5HH GOBUTG BsveoTd @hHwr — aleurd)

Indian athletes have scripted history at the Olympic and Paralympic games in Tokyo - comment
GLraHBwmalsd HewLGUBB edblld wHBEID wrBpIFBamaissT @edbllds GuTlisHeaisd @bHFHW S o6
allenemuT (B &IJiTE6T auFeuTB®I FTHME [HlHDSHHWeTenenT - aleurd)

Discuss the importance of NMEO-OP.
NMEO-OP geir (psdwsgieun uppl aleurd)

Enlist the major announcements of PM during his 75t Independence Day speech
Uyswofler 756ug aophdHy SHer 2 _emguisd opflaldsiul L (wesdHw spfalliysamer UL guwedBad

What are the recommendations of the fifteenth Finance Commission with respect to the grant to

local governments, health, disaster risk management and fiscal consolidation?
o oo dl SFTRSESeT, &HTHTL, GuiLT @LiT GweoTamientd LOBEBID HFH QEEISmenly GBS
1508 Bl opmenuibder Lfibslengsen Wwimeneu?

Explain the National Monetization Pipeline scheme
Bxpdlwr uemIoTdhHe0 S LD UBY eflend@Gs

Bring out the significance of IPCC’s AR6 climate change 2021 report.
IPCC @et AR6 smeuplensy mBBd 2021 opfisamaulle (pédsgeusms Calefs6sment s

Explain the role of Tribunals in delivering justice. Also discuss the recent developments related to
tribunals

BdH  aUpEIGaHeL STiumwriseler unidener ealenddad. Goed STUUTWRISET QHTLTUTS FLluSHSH W
Baeyser GBSHH aleursbsab.

3 men and 4 women working together for 7 days, earn Rs.3,780 while 11 men and 13 women
working together for 8 days earn Rs.15,040. In how many days will 7 men and 9 women earn

Rs.12,400?

3 ouewidell 4 Guewidel 7 BT &6 GCouemev UMTHH 53,7800 11 oewigket, 13 OewideT 8 [BIL &6l
Bouemev  UIMTHSHH60  H.15,04000 FLIQeT oleole0, 7 SLeWIHEHD 9 GUEHISEHD ¢@5.12,400 &3 6IHHeM60
BT &efled ALl SmHULiT?

Answer the following questions
Weiteu(meuaeudmsibE  aflenLwier

a. Nathan, an engineering student was asked to make a model shaped like a cylinder with two
cones attached at its two ends. The diameter of the model is 3 cm and its length is 12 cm. if each

cone has a height of 2 cm, find the volume of the model that Nathan made.

BTH&T eleiip  QuTpuilwsd LomemTeuT T o (Hememuilelr E(BLMBPLD FnlbLiBei 2 eitemeumml LTS @eilens
o (HeuTdSlenti. wrgHifluler membd 12 OF0 wBmd el 3 0510 SLGW. @6I6eT(H &nlbLiles
o Wb 2 OF.15 B(HEHGLTaITe0 BTHT o (Haurhswl rHflulle searsienenald SHTems

b. A fruit seller bought 8 boxes of grapes at 3150 each. One box was damaged. He sold the
remaining boxes at ¥190 each. Find the profit / loss percent.
m up elwrumfl 8 Ouly SHyTlmssemen, @@ ULl 150 6B aiHd euTHISET. DUHO 6
Quly FHymieng HWHAIGSBH. BHpeTen GLUL ST @@ Oy I190 s almevdsd alBam.
Beoru / BUL FHIHSHMBDH SIS
PH. N44.243309/43R A78R7555 9R4AN77RIRT




